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BAAY A 13,538,681 13,025,065 513,616
Hol2 Hel 13,446,562 12,926,778 519,784
HIIS HeAlL 22 13,239,879 12,718,880 520,999
BOISZ8HelCX (BT0) 2% 22| 12,423,411 11,907,200 516,211
307 012+0| & 12,423,411 11,907,200 516,211
05 DIt et = 12,423,411 11,907,200 516,211
OBIIS Za 2K QI2FE XA (BT0) AIE
2 12,423,411 11,907,200 516,211
DDEABHEAL  ZF 4,714,921,0002 4,714,921 5,258,683 A 543,762
DR S MY AIA 2= 1,622,200,0002 622,200 2,760,522 A1,138,322
SN 2 6,086,290,0002! 6,086,290 3,887,995 2,198,295
NEZZ EE 22 703,057 714,122 A 11,065
201 2B ot 17,820 19,800 A 1,980
NIRRT 17,820 19,800 1,980
O1 geragy) 7,920 8,800 880
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2= 1,800,000 1,800 2,000 A200
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301 AP P H 113,411 97,558 15,853
12 B a2 113,411 97,558 15,853
OF0AAQY 29 113,411 97,558 15,853
e 2 77,143,000 77,143 65,631 11,512
DEEAY 2 12,821,000 12,821 12,411 410
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PERIeUTEE 2 311,000 311 279 32




SN BIANYL
M Hole Hel

B2l HIIZ XMelAlE 2el (&)
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DAMATHEE = Z & 910,000& 910 817 93
>EA= 23 7,582,000 7,582 6,802 780
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HII2 Ml & 282X 206,683 207,898 A1,215
a4+ HMel & otgE 2el 206,683 207,898 A1,215
201 ¢er24l 168,028 168,920 A B892
01 At 22l 8,028 8,920 A B892
O1 get==2Hl 7,758 8,620 A 862
D> Xlote= =& 2 At 2,970 3,300 A 330
OHES 28 2,376,000& 2,376 2,640 A 264
oEgd 2 & 594,000& 594 660 A 66
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O1 et=2Hl 8,640 9,600 A 960
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